____ ’gasytvet.com







—— S

(b)
{c)
ﬁ
3 (a)
()
1704/202

Ot Now. 2018

The value of a poker vibrator that was purchased in January 2009, depreciates at 12%
per annum. Ifits value in January 2011 was Ksh 48,400, find the purchase price of
the poker vibrator. (4 marks)

Four trade partmers from Evrope, Japan, USA and South Africa contributed 2,000
Sterling Pounds ( £), 5,000 US ($) dollars, 100,000 Japanese Yen and 20,000 South
African Rand respectively. They converted all the currencies into Kenyan shillings
and paid customs duty of 30% on goods they bought at Ksh 500,000, Caloulate the
cash balance in US ($) dollars they have using the exchange rates given in table 2.

{8 marks)
Table 2
N if e BLA
Currency Kenya Shillings ohe
I Steding £ 1409957 '
LUS$ 90,7031 ;
100 JPY T5 3598
1 SA Rand 78066
Simplify the expression:
28in 2T e 27, {3 marks)
IfsinA= ;:jtland sm B = 1—53 Find without using tables or calculator:
{1} sin (A + BY;
(i) cos(A+B) : by WL (8 marks)
TN - )
e 2
3 Turn over



{e)  The shaded area in gure 1 is to be tiled.

Fig. 1

{1} Find the arca to be covered by tiles;

fii} If the cost of tiling a square metre is Ksh 2,200 and 15% is allowed for tile
breakages, calculate the cost of tiling the aress,

(iiiy  If the contractor has to make a profit of 40% of the total cost, calculate the
amount he should put in his quotation. (9 marks)

4, (a)  Solve the trigonometric equation for values of & between 07 and 360",
eosf= 13zn' 817, (8 marks)

(b} Express Tsinf+ 13cosf inth form R sin (@ + a ) where & is acute angle.
Hence solve the equation:

-

Tainf + 13 cos & = 3 for the values of @ from 0" to 360" inclusive, {12 marksy '

5 (@)  Given the matrices:

A:(la T-)' Bz(? H)md C=(” —?): =

6 4 12 10 & 5 A K
Find: = u“rﬂ A
iy 3A+B-C G
(i) AC; R
gy AC.

(9 marks)
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Figure 3 represents a system of four forces acting on a particle. By calculations,
determine the magnitude and direction of the resultant force. {8 marks)

-

Fig. 3 : e i e
Differentiate the following: \
(i) Yy =y3—3Ix;
(i) y=-Sge3X (8 marks)

TR

A closed tank with square base is to have a volume of 300 m*. The material for the
top and bottom will cost Ksh 400 per sgquare metre while the other sides will cost
Ksh 500 per square metre. Determine the dimension that will minimize the cost.

{6 marks)
The volume of a cylinder iz given by V= ar'h. Determine the approximate
change in yolume if the radius 1= reduced from 70 cm to 69 em and the height is
increased from S0 cm o 70 cm. {6 marks)

Evaluate the following definite integrals:
(i) f(ﬁz‘ = 152+ 7 )dz;
3

1] E‘lihiinl.'r. dx. ke (8 marks)

Find the arca bounded by the curve y=x*+2 and the axis between x= 1 and x = 4,
(6 marks)

A body moves with velocity V =2 + § t metres per second, after 1 seconds, Find the:
(i) distance moved in first three seconds;

(i)  distance travelled in the fourth second. (6 marks)
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